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Bank Special Math & Reasoning Assignment-I

— MATHS

Directions (Q. 1-5): In the following number series only one
number is wrong. Find out the wrong number.

1.

6 12 36 144 722 4320 30240
(a) 36 (b) 144 (c) 722

(e) none of these

9261 6859 4913 3375 2197 1321 729
(a) 1321 (b) 6859 (¢) 2197  (d) 4913
(e) none of these

3 5 8 75 1125 84375 94921875

(d) 4320

(a) 94921875 (b) 8 (c) 75
(d) 1125 (e) none of these
4 5 9 20 34 59 95

(a)9 (b) 34 (c) 59 (d) 95

(e) none of these

2 13 76 377 1506 4506 9008
(a) 13 (b) 9008 (c) 4507

(e) none of these

(d) 1506

Directions (Q. 6-10): What should come in place of the
question mark (?) in the following questions?

6.

10.

3175616 = ?

(a) 53 (b) 46

(e) None of these

1888 +32+8=7

(a) 472 (b) 7.375
(e) none of these

423 4 92.3 , gl7 _ 9
(a) 64 (b) 512
(e) none of these

18.8 x 7x14.2 = 5232.416

(a) 20.3 (b)17.4 (c) 19.6

(e) none of these

2é+23+13:?
7 5 8

2T mys il
280

140
(e) none of these

(c) 63 (d) 66

()29.5 (d) 9.485
(c) 16 (d) 4096

(c) 16.8

67
280

@622

6
(a) 140

()8

Directions (Q. 11-15): What approximate value should come
in place of the question mark (?) in the following questions ?
(Note: You arc not expected to calculate the exact value.)

11.

12.

<1850 = ?

(a) 43 (b) 56 (c) 32 (d)28  (e)49
17.998 x 23.005 x11.99 = ?

(a) 3824 (b) 4055 (c) 5138  (d) 5446

(e) 4964

13.

14.

15.

9876.5+18.5+3.2=7

(a) 128 (b) 194 (© 152 (d) 167 (e) 179
18.6)% = ?
(a) 7245  (b) 5225 (c) 6435  (d) 7705
(e) 8045
2225 867 119
T x— xS
7 5 4

(a) 1511345
(c) 1851216
(e) 1583628

(b) 1639714
(d) 1420165

Directions (Q. 16-20): In the following questions two
equations numbered | and Il are given. You have to solve both
equations and give answer.

20.

. Lx2+9x+20=0
s Lx2+11x+24=0

(@ Ifx>y (MIfx>zy @Ifx<y (DIfx<y
(e) If x = y or the relationship cannot be established
ILy2 +13y+41=0

I y2 +12y+35=0

. L2x+3y=14

II. 4x + 2y = 16

L Lax247x+12=0

I y2 +10y+24=0
Lx2+28=11x
II. y?> - 15y + 56 = 0

Directions (Q. 21-25): Study the following graph carefully to
answer these questions.

Annual turnover of Companies A and B both during

the years (in Rs lakh)

. Turnover (in Rs lakh)

21.

—— A {—8B

550 1
500 1
450 1
400 4
350 -~
300 1
250 1
200 1
150 1
100 1

50 1

1996 1997  [998

Year

1999 2000 2001

What is the per cent increase in the turnover of
Company A from the year 2000 to 2001?

WWW.Guptaclasses.com All the Best

by : Alok Gupta Sir & Ritu Gupta Mam



Bank Special Math & Reasoning Assingment-I

22,

23.

24.

25.

26.

217.

28.

@332  (best ©662  (d)362
3 3 3 3

(e) none of these

What is the per cent increase in the total
turnover of both the companies taken together
from the year 1997 to 1998?

2 2 1 1
162 b) 14 2 16- (14>
(a) 3 (b) 7 (c) 3 (d) =

(e) none of these
What is the difference between the average
turnovers of comf)anies A and B?

(a) 48 W58, © 35% (d) 35
(e) none of these
The turnover of company A in 1998 is

approximately what per cent of its total
turnover in all the years?

(a) 22 (b) 16 (c) 23 (d) 15 (e) 20
What is the ratio of the turnover of both
companies together in the year 1996 to that in
1997?

(a)2:1 b)2:3
(e) None of these
What will be the area (in square metres) of 1.5
metre wide garden developed around all the
four sides of a rectangular field having area
equal to 300 square metres and breadth equal to
three-fourth of the length?

(a) 96 (b) 105 (c) 114

(d) Cannot be determined (e) None of these

In a two-digit positive number, the digit in the
unit's place is equal to the square of the digit in
ten's place, and the difference between the
number and the number obtained by
interchanging the digits is 54. What is 40% of the
original number?
(a) 15.6 (b) 39
(e) none of these
Vishwas borrowed a total amount of Rs 30,000,
part of it on simple interest rate of 12 p.c.p.a.
and remaining on simple interest rate of 10
p.c.p.a. If at the end of 2 years he paid in all Rs
36,480 to settle the loan amount, what was the
amount borrowed at 12 p.c.p.a.?

(a) Rs. 16,000 (b) Rs. 18,000

(c) Rs. 17,500 (d) Rs. 12,000

(e) None of these

(©1:1 (d)3:2

(c)37.2 (d) 24

29.

30.

31

If the numerator of a fraction is increased by i
and the denominator is decreased by % , the new

fraction obtained is % What was the original

fraction?

9 5 3 7
(a) 11 (b) 2 (c) 7 (d) 3
(e) none of these
Twice the square of a number is more than
eleven times the number by 21. The number can

have which of the following values?
(a)40r—z (b)70r—§ (c)301‘—z (d)gor—4
2 2 2 2

(e) None of these

A train travelling at the speed of 60 km/hour
crosses a platform in 20 seconds. What is the
length of the train?
(a) 333 metres

(c) 336 metres

(e) None of these

(b) 300 metres
(d) Cannot be determined

. A sum of money is to be divided among four

persons in the ratio 2: 3 :4: 5. Out of the four one
person gets Rs 200 more than the other and Rs
100 less than another What is the sum?

(a) Rs. 2,800 (b) Rs. 1,400

(c) Rs 4,200 (d) Cannnot be determined
(e) None of these

Directions (Q. 33-35): Study the information carcfulb to
answer the questions that follow:

33.

34.

3S.

A bucket contains 8 Red, 3 Blue and 5 Green marbles.
If 4 marbles are drawn at random, what is the
probabiliy that 2 are red and 2 are Blue?

@ 2 ol @l

16 16 72 65
(e) none of these
If 2 marbles are drawn at random, what is the
probability that both are Green?
(@1 b2 (0 2

8 16 7
(e) none of these
If 3 marbles are drawn at random, what is the
probabiht that none is Red?

3 1 1
d b) — el

3
2
()8

3
d) =
()16

(e) none of these

— REASONING

Directions (Q. 36-41): Study the following information
carefully and answer the given questions.

L, N,P,R, M, Q T and Y are the members of a

committee sitting around a circular table but not facing the
centre. Each member has a different zodiac sign, viz Leo,
Virgo, Libra, Cancer, Aries, Gemini, Pisces and Scorpio,
but not necessarily in the same order.

T is third to the right of P. The one whose sunsign is

Leo is second to the left of the one whose sunsign is Libra.

Y's sunsign is Libra and is sitting exactly between P and L.

The one whose sunsign is Pisces sits second to the right of
N. The one whose sunsign is Aries is second to the right of
the person whose sunsign is Gemini. P sits third to the left
of the person whose sunsign is Virgo. Neither Q nor L is the
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immediate neighbour of N. Q is fourth to the left of L. N's
sunsign is neither Cancer nor Aries. The person whose
sunsign is Leo is sitting second to the right of the person
whose sunsign is Cancer.- R's sunsign is Leo and is not an
immediate neighbour of N.

36.

37.

38.

39.

40.

41.

Which of the following is N's sunsign?
(a) Pisces  (b) Scorpio (c) Gemini

(d) Can't be determined (e) None of these
Who sits third to the right of L?
(a) P b)Y ©R

(e) None of these

What is Y's position with respect to Q?

(a) Third to the left (b) Fourth to the left

(c) Second to the right (d) Third to the right

(e) Second to the left

How many persons are there between P and N?

(d)Q

(a) None (b) Two (c) Three (d) Four
(e) None of these

What is the sunsign of P?

(a) Gemini (b) Libra (c) Leo

(d) Can't be determined (e) None of these
Which of the following combinations is true?
(a) M-Gemini (b) P-Cancer

(c) N-Scorpio (d) None is true

(e) All are true

Directions (Q. 42-45): Each of the questions below consists
of a question and two statements numbered | and Il given
below it. You have to decide whether the data provided in the
statements are sufficient to answer the question. Read both
the statements and give answer

43.

(a) if the data in statement I alone are sufficient to
answer. the question, while the data in statement
IT alone are not sufficient to answer the question.

(b) if the data in statement II alone are sufficient to
answ er the question, while the data in statement I
alon, not sufficient to answer the question.

(c) if the data either in statement I alone or in
statement' alone are sufficient to answer the
question.

(d) if the data in both the statements I and II together
are not sufficient to answer the question.

(e) if the data in both the statements I and II together
are] necessary to answer the question.

Three apples A, Ay, and A3 are shared by five

persons D, E, F, G and H. D shares apple A 3 with

H. Apple A, is shared with F, who shares it with

G but not with E. Who among them definitely ate

a single apple?

I. G did not get share in apple A 3 while E did not get
share in apple A 5.

II. H likes to share apple A 3, but not with E.

What is the relation between Q and A?

I. P is son of R, who is mother of A's father's sister
and grandmother of Q.

II. N is brother-in-law of P and he has two children. P
is a bachelor.

44,

45.

Among Z, K, N, R and M, is M greater than N?

I. Kiseither greater than or equal to N, who is either
smaller than or equal to Z. Z is greater than R, who
is equal to M.

Z is greater than N and either smaller than or
equal a K, who is equal to R and M is greater than
R.

L, M, N, O, P, Q R and S are standing in a
straight line facing north. Who sits at the ends of
the row?

I. Sis fourth to the right of O, who is the immediate
neighbour of N. L is second to the left of N, who is
third to the left of Q.

L is fourth to the left of O and is at one end of the
row. N is fourth to the right of S, who is not a
neighbour of O.

II.

II.

Directions (Q. 46-50): Study the following information
carefully and answer the questions given below:

There are eight employees S, T, U, V, W, X, Y and Z of

an organisation working in three departments viz P, Q and
R. Each of them has a different choice of colours, viz Blue,
Yellow, Orange, White, Green, Violet, Brown and Black,
but not necessarily in the same order. There are not more
than three employees in any department.

V likes Brown colour and does not work in department

R. Z does not work in department Q and does not like either
Yellow or White colour. W works in department Q and likes
neither Blue nor Yellow colour. Y works in department P
with only U, who likes Black colour. S and X do not work in
the same department as W. The one who likes Blue colour
works in department Q. The one who likes Orange colour
works in department P. Those who work in department Q
like neither White nor Green colour. X does not like Yellow
colour.

46.

47.

48.

49.

S0.

Sl

Which of the following colours does Z like?

(a) Orange (b) Green (c) Brown (d) Blue

(e) None of these

Which of the following groups of employees
works in department Q?

(a) TVW (b) UVW (c) VWZ
(e) None of these

Who among the following likes Violet colour?
(a) T (b) S (oW (dVv

(e) Can't be determined

In which of the following departments does S
work?

(a) P (b) Q (R

(d) Can't be determined (e) None of these

Which of the following combinations is true?
(a) V-P- Black (b) V-Q-Brown

(¢) T-R-Green (d) All are true

(e) None of these

Player X, one of the best tennis doubles players
of all time and certainly India's best alongside
Player Y, has been dropped for the tie against
Chinese Taipei.

(d) TVS
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92

93.

54.

SS.

Which of the following may he a probable cause

for taking the above step?

(a) He has fallen victim to a battle with the
establishment.

(b) Player Y is not available for selection.

(¢) There is lack of transparency and accountability in
selection.

(d) The form of Player Y has of late been on the wane.

(e) None of these

The rupee has been under considerable stress.

Which of the following can be a possible effect of

the above cause'?

(a) The rupee has been depreciated.

(b) The RBI has decided to release cash into the
market.

(c) The RBI has clamped down on rupee forward
contract transactions.

(d) There will be lesser shocks from the overseas
market

(e) None of these
Prime Minister Manmohan Singh may slash the
Cabinet Committee on Investment's (CCI)
threshold limit by half to ?500 crore to get more
stalled projects moving again as the
government's term nears its end. Which of the
following is not in line with the Prime Minister's
statement'?

(a) A committee was set up in January 2013 to revive
projects that have got stuck due to various reasons.

(b) Industrial growth slumped to a negative 0.2% in
the first eight months of 2013-14.

(¢) The PM is committed to reviving India's growth
impulses till his last day in office.

(d) As of now, CCI's mandate allows it to push for
time-bound clearances to investments of Rs. 1,000
crore or more.

(e) None of these

Beverage and snacks maker PepsiCo India is

pushing to become more aggressive in the

market as it battles Coca-Cola in soft drinks and

ITC and Parle in foods. Which of the following

can be a part of possible fallout of the above

situation"?

(a) The company is bait I ing growth slowing across
foods® and beverages, fluctuating weather
conditions that make market behaviour
unpredictable and consumers turning to healthier
foods and drinks.

(b) The foods business
fragmented.

(c) The company has made sweeping changes in its
senior leadership structure.

(d) Its top eight brands generate a business of about ?
1,000 crore each.

(e) None of these

In its mid-quarter policy review on 18

December, RBI kept its policy rate unchanged

is getting increasingly

at 7.75%, hoping for a drop in the inflation rate

because of an expected fall in food prices.

Which of the following statements substantiates

the views expressed in the above statement?

(a) The Consumer Price Index (CPI)-based inflation
has come down just because of the softening of
vegetable prices while prices of many other
components of food inflation are still hardening.

(b) Factory output contracted for a second straight
month in November, by 2.1%, because of a sharp
decline in production of consumer durables.

(c) Since he took charge in September, RBI governor
Raghuram Rajan has raised the key policy rate
twice, from 1.25% to 7.75%.

(d) State governments, have done away with
middlemen in the sale of fruits and vegetables by
amending the  Agricultural  Produce Market
Committee Act.

(e) None of these

Directions (Q. 56-60): In the following questions, the

symbols S, @, £,

* and # arc used with the following

meanings as illustrated below:

'A' $ B' means A is neither greater nor smaller than B
'A @B'means A is neither greater than nor equal to B
'A £ B'means A is neither smaller than nor equal to B
'A - B' means A is not smaller than B

'A# B' means A is not greater than B

In each of the following questions, assuming the given

statements to be true, find out which of the two conclusions
I and II given below them is/are definitely true. Give
answer

S6.

S7.

58.

59.

60.

(a) if only conclusion I is true.
(b) if only conclusion II is true.
(e) if either conclusion I or II is true.
(d) if neither conclusion I nor II is true.
(e) if both conclusions 1 and II are true.
Statements : W - P,PE£G, G@LI#N
Conclusions : I.TE£P

ILN#W
Statements: U@D,DS$E,ELY,Y - W
Conclusions : I. W@ E

ILDEW
Statements: ZEN,N#K, K$M,M@R
Conclusions : I. M $ N

ILMEN
Statements: V- D,DE£T,K$T, K#F
Conclusions : I. D £ K

II.LT-F
Statements: S$Q,Q@B,B - K, K#W
Conclusions : I. K# S

I.S@W

Directions (Q. 61-65): In each of the questions below are
given four statements followed by three conclusions
numbered |, 11 & I11. You have to take the given statements to
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be true even if they seem to be at variance with commonly
known facts. Read all the conclusions and then decide which
of the given conclusions logically follows from the given
statements disregarding commonly known facts.

61. Statements : All grapes are plums.
All plums are oranges.
Some oranges are apples.
Some apples are guavas.
Conclusions : 1. Some oranges are grapes.
I1. Some guavas are oranges.
III. Some apples are plums.
(a) Only I follows (b) Only I & II follow
(c) Only I & III follow (d) All I, IT & III follow
(e) None of these
62. Statements : Some pets are dogs.
Some dogs are cats.
Some dogs are rats.
No rat is goat.
Conclusions : I. Some cats are rats.
IT. No cat is rat.
ITII. No goat is dog.
(a) None follows (b) Only I follows
(c) Only II follows (d) Only III follows
(e) Only either I or II follows
63. Statements : Some roses are jasmines.
Some jasmines are lilies.
All lilies are marigolds.
All marigolds are sunflowers.
Conclusions : I. All lilies are sunflowers.
II. Some jasmines are marigolds.
II1. Some jasmines are sunflowers.

(a) All follow (b) Only I follows
(c) Only II & III follow (d) Only I & II follow
(e) None of these

64. Statements : Some flats are houses.
Some houses are bungalows.
No bungalow is hotel.
All hotels are restaurants.
Conclusions : I. No bungalow is restaurant.
I1. Some houses are hotels.
II1. Some restaurants are hotels.
(a) Only I follows (b) Only III follows
(e) Only IT & III follow (d) None follows
(e) None of these

6S.

Statements : Some lemons are chillies.
No chilly is brinjal.
All brinjals are sweets.
Some sweets are desserts.
Conclusions : I. No chilly is sweet.
II. Some lemons are desserts.
ITI. Some brinjals are desserts.
(a) Only I follows (b) Only II follows
(c) Only III follows (d) None follows
(e) None of these

Directions (Q. 66-67): These questions are based on the
following information:

66.

67.

'P x Q' means 'P is wife of Q'.

'P + Q' means P is son of Q'

P, Q means 'P is mother of Q'.

'P — Q' means 'P is sister of Q'.

Which of the following expressions represents
the relationship 'T is son-in-law of H'?
(a@gH-L T b)HxF+L, T
(e0H, RxT (dMH, R+T
(e) None of these

In'B, H+ M how is M related to B?
(a) wife (b) husband (c) sister

(d) cannot be determined (e) none of these

Direction (Q. 68-70) : These questions are based on the
following set of numbers :

347 418 635 824 259

68. If T'is added to the middle digit of each number

69.

70.

and then and positions of the first and second
digits are interchanged and then newly formed
numbers are arranged in ascending order,
which number will be second from the top?

(a) 347 (b) 418 (c) 635 (d) 824 (e) 259
If the first and the third digits in each number
are interchanged, which number will be the
smallest?

(a) 347 (b) 418 (c) 635 (d) 824 (e) 259
If the first digit in each number is reduced by 1
and then its position is interchanged with the
position of the second digit, which number will
be the largest?

(a) 347 (b) 418 (c) 635 (d) 824 (e) 259
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— ANSWER KEY

1. (c) 2. (a) 3. (b) 4. (e) 5. (d) 6. (e) 7. (b) 8. (d) 9. (c) 10. (a)
11. (a) 12. (¢) 13.(d)  14.(c) 15 (b)  16.(a) 17.(e)  18.(c)  19.(b)  20. (d)
21. () 22. (@) 23.(e) 24.() 25 () 26.(c) 27.(a) 28 (d)  29.(e) 30.(b)
31. (d) 32.(d) 33.(d) 34.() 35.() 36.(b) 37.(e) 38 (d  39.(c) 40.(a)
41. (c) 42. (e)  43.(d)  44.(b)  45.(a)  46.(b)  47.(a)  48.(c)  49.(c) 50.(b)
51. (a) 52.(c) 53.(¢) 54.(c) 55.(d) 56.(d) 57.() 58 (c) 59.(a 60.(d)
61. (a) 62. (¢) 63.(a) 64.() 65 (d) 66.(c) 67.(b) 68 (a) 69.(d) 70.(e)

Hint & Solutions

1.

The given number series is based on the
following pattern :

6" 2=12
12" 3=36
36" 4 =144
1447 5=7201 722
720" 6 = 4320
Hence, the wrong number is 722.

The given number series is based on the
following pattern :

217 217 21 =9261

197 197 19 =6859

177 177 17 = 4913

157 15" 15 =3375

137 137 13 = 2197

117117 11 =13311 1321
Hence, the wrong number is 1321.

The given number series is based on the
following pattern :

3"5=1518
5°15=175
157 75 =1125
1125° 75 =84375
Hence, the wrong number is 8.

The given number series is based on the
following pattern :

4+1%2 =5
5+2%2 =9
9+32 =181 20
18+42 =34
34+52 =59
59 +62 =95
Hence, the wrong number is 20.

The given number series is based on the
following pattern :

2°7-1=13
13"6-2=176
76" 5-3 =377
377 4- 4 =1504 1 1506
1504~ 3- 5 = 4507
Hence, the wrong number is 1506.

6.
7.

8.

9.

10.

11.

12.

13.

14.
15.

16.

17.

3175616 = 56~ 56 56 =56
9- 1888 - 375
32° 8
?= 42.3 . 22.3 . 81.7 — (22)2.3 . (2)2.3 . (23)1.7
~94.6 - 92.3595.1
[ (@*)Y =a™]

9 5232'.416 ~19.6
18.8“ 14.2
?:2+i+2+g+1+§:(2+2+1)+8d+g §9
7 5 8 &7 80

5 +§60 +112+ 105(?

280 2]
=5 +ﬂ
280
54120 —g 9T
280 280

1850 = 43.012 » 43
?=17.998" 23.005  11.99

» 18~ 237 12 » 4968
\  Approximate value = 4964

? :L,Gj =166.8 » 167
18.5° 3.2

?=18.6"18.6" 18.6 = 6434.856 » 6435

9 =225 867 119 _,499713.75 » 1639714

7 5
Lx2+9x+20=0

b x2+4x+5x+20=0

P x(x+4)+5(x+4) =0

b (x +4)(x+5) =0

\ x=-4 or -5
II. y2 +13y+42=0

b y2+7x+6y+42=0

P y(y+D+6(y+7 =0

P (y+6)y+7) =0

\ y=-6 or -7
Clearly, x>y

Lx2+11x+24=0

b x2+3x+8 +24=0
=) x(x +3)+8(x+3) =0
b (x +8)(x +3) =0
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100

\ x=-8 or -3 Hence required% increase = — " 100 = 16g
600 3

II. y2 +12y +35=0
P y2+T7y+5y+35=0
P y(y+D+5(y+7) =0

23. Average turnover of B
_ 225+ 200 + 400 +450 +300 + 500 _ 2075

6 6

P (y+6(y+7) =0 Average turnover of B

\ y=-5 or -7 2450

Clearly, relationship cannot be established. =350 + 400 +300 + 500 +350 + 550 = 6.

18. I.2x +3y=14 ) 2450 2075

I 4x + 2y = 16 \ Difference = & 6.

By equation I~ 2-II, we have _ 2450- 2075 _ 375 _ 621
4x +6y =28 6 6 2
4x +2y =16 24. Turnover of A in 1998 = 400 lakhs

— — Total turnover of A = 500 +300 + 450 + 400 + 200 +
4y =12 275 = 2075 lakhs

b y = % =3 \ Required% = % ~ 100 » 20

From equation speed of the train I, 25. Turnover of A in 1996 and 1997

x+3° 3=14 = 225+ 200 = 425 lakhs
2% =14-9=5 Turnover of B.in 1996 and 1997
=80k =350 + 400 = 750 lakhs
2 \ Requiredratio = 425 : 750 =17 : 30
19. Lx2+7x+12=0 26. Let the number be 10x + x 2
P x2+3x+4x+12=0 Now, according to the question,
P x(x+3+4(x+3 =0 (1022 +x) - (10x +x2) = 54
p (x +4)(x +3) =0 \ 9x2 - 9x =54
\ x=-4 or -3 \ x2-x-6=0
ILy% +7x +12=0 \ (x-3(x+2 =0
P y2+6y+4y+24 =0 \ x =3 or, -2
P y(y+6)+4(y+6) =0 But x = -2is not valid
p (y+6)(y+4) =0 \ The original number = 39 )
\ y=-6 or -4 \ 40% of the original number = 39" 40 _ 15.6
Clearly, x3y
20. L x2-11x+28=0 28. Let the amount borrowed by Vishwas at 12
b x2. 7x- 4x+928=0 p.c.p.a be Rs. x
b x(x-T-4Gx- 7 =0 \  amount at 10 p.c.p.a. = Rs. (3'0000 - x)
Ak -T) = Slat129% =% 12 2_-gs &
\b (x-Dx-17 = Z g Now, 100 o5
x =4 or S 107
IL y2 - 15y+ 56 =0 STat10% = 2000 13()) =2
b y2-8y-7y+56=0 (30000 - x)
P y(y-8-7(y-8 =0 - 5
P (y- N(y-8=0 Again, according to the question,
\ y=T7 or 8 6x , (80000 - %) , 36000 = 36480
Clearly, xEy 25
21. Turnover of A in 2000 = 300 lakh or, 6x +150000 - 5¢ _ 36480 - 30000 = 6480
Turnover of A in 2001 = 500 lakh 25
200 . or, x =257 6480 - 150000

\ Required %increase = 100 = 66§

=162000 - 150000 = 12000

22. Turnover of both companies in 1997 \ required answer =Rs. 12000
=200 + 400 = 600 lakh

Turnover of both companies in 1998

=300 + 400 =700 lakh

23. Let the original fraction be x,
y
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\ 83
y- ly 64
3
\ dx+x . 3 _ 33
4 3y-y 64
\ 5e_33.4_11
2y 64 3 16
\ £ _11.2_11
y 16 5 40
30. Let the number be x
Now, according to the question,
\ 2¢2 - 11x = 21
or 262 - 11x - 21 =0
or,2c2 - 14x +3x - 21 =0
or, 2x(x-7)+3(x-7) =0
\ (x-7N(2c+3) =0
\ x =T or -3
2
33. 16 46
Total number of ways = "C, = ——— = 1820
* T a2
And favourable number of ways
_8n~ -3~ _ 8 . &
=8¢ Co=_2 - B
2 T s 4@
=84
. - 84 3
\  Required probability = —— = —
AUITec Probabiily = 1820 ~ 65
34. Total number ways = 1602 = ﬁ =120
a4
And favourable number of ways = ° Cy = 6;6@ =10
. - 10 1
\ Required probability = — = —
au P Y 120 12
35. 16 d6
Total number ways = Cg = ——— = 560
3743 @
Total number of ways when all marbles are red
=803=-2_ =56
&8
\ ' Probability when all the three are red
=56 _ 1
560 10
\  And probability when none isred =1 - 1.9
10 10
42. From I and II.
Ay Ay Aj
D — — R
E O .
F — o) o)
G — 0] ’
H — — o

Thus, E ate only a single apple, viz A;.

Hence, both statements are sufficient to anwer the
question.
45. FromI. L_NO_Q_S

Hence, statement Iis sufficient to answer the question.

FromIl. LS__ON__
L_S_O_N_

46-50
Person Department Colour
W Q Violet
Y P Orange
U P Balck
S R Yellow
X R White
Z R Green
\ Q Brown
T Q Blue
91. Such battles are nothing new in the arena of

sport and have ruined many a carrer.
. Forward trading is a known culprit in bringing
imbalance in the markets.
. Choice 1 is in line with the statement because it
seems to be a refernce to the CCI mentioned in
the statement. 2 is a likely outcome of projects
getting stalled. 3 is implied by the decision
taken even as “the government”s term nears its
end”. 4 is in line on the basis of simple
calculation.
Change in leadership structure may be a part of
the aggressive strategy.
Doing away with middlemen reduces costs and
is expected to bring inflation down.

(93]
N

9))
w

54.

55.

(56-60) :
$® =,@,® <,A® >, -®3,#® £
S56. Given statements: W3 P eee(i)
P>G ...(i1)
G<I ...(iii)
IEN ...(iv)

Combining all these statements, we get

W3 P>G<IEN

Check for I. We can’t compare P and I. Hence,
conclusion I is not true.

Check for II. We can’t compare W and N. Hence,
conclusion II is not ture.

97. Given statements: V<D o)
D=E ...(11)
E>Y ...(iii)
Y3 W ...(v)
Combining alll these statements,we get
U<D=E>Y3W
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Check forI. E>Wor W< Eisture. hence, conclusionIis
ture.
Check forII. D > Wistrue. Hence, conclusion ITis true.
Given statements:Z >N (i)
NEK ...(i1)
K=M ...(ii)
M<R ...(iv)
Combining all these statement, we get
Z>N£K=M<R
Hence, NEM or M3 N is ture. For this, conclusion I (M =
N) and conclusion IT (M > N) make a complementary pair.
So, either conclusion I or II is ture.
59. Given statement:V3 D
D>T
K=T
KEF
Combining all these statements, we get
V3 D>T=KEF
Thus, D > K. Hence, conclusion I is true.

58.

eee(D)
...(11)
...(1i1)
...(iv)

Again. T £ F. Hence conclusion (T3 F) is not ture.
Given statements: S=Q (i)
Q<B ...(1)
B3 K ..+(iii)
KEW ..Gv)
combining all these statements, we get
S=Q<B3KEW

Thus, we can’t compare K and S. or, S and W. Hence,
neither conclusion I nor II is ture.

61. All grapes are plums + All plums are oranges = A
+A = A = All grapes are oranges ® conversion ®
some oranges are grapes. hence conclusion I
follows. But the last two statements ae of I-type
and do not lead to any results here. hence II and
IIT do not follow.

Some dogs are cats ® conversion ® Some cats
are dogs + Some dogs are rats = I + I = No
conclusion. Hence I and II do not follow.
However, since they make a complementary I-E
pair, either I or II follows. Again, Some dogs are

60.

62.

rats + No rat is goat =1 + E = O = Some dogs are
not goats. But III does not follow.
All lilies are marigolds + All marigolds are
sunflowers = A + A = All lities are sunflowers.
Hence conclusion I follows. Some jasmines are
lilies + All liliesa re marigolds =1+ A =1 = Some
jasmines are marigolds + All marigolds are
sunflowers = I + A = I = Some jasmines are
sunflowers. Hence III follows.
No bungalow is hotel + All hotels are
restaurants = E + A = O* = Some restaurants are
not bungalows. hence I does not follow. Some
houses are bungalows + No bungalow is hotel =1
+ E = O = Some houses are not hotels. Hence II
does not follow. All hotels are restaurants (A) ®
conversion ® Some restaurants are hotels (I).
Hence III follows.
No chilly is brinjal + All brinjals are sweets = E
+A = O* = Some sweets are not chillies. Hence I
does not follow. All brinjals are sweets + Some
sweets are desserts = A + I = No conclusion.
Hence III and consequently II do not follow.
Adding 1 to the middle digits, we get
357 428 645 834 269
Interchanging the first and second digits, we get
537 248 465 384 629
Now, ifwe arrange these in ascending order, the second
from the top will be 537, which hasbeen obtained from 347.
69. Interchanging the first and the third digits, we
get

743 814 536 428 952

The smallest number now is 428, which has been
obtained from 824.

Quicker Method : Look for the least value of the third
digits as after interchanging this will become the first digit.
70. Reducing the first digits byl, we get

247 318 535 724 159

Of these, 519 is the largest, which has been obtained
from 259.

Quicker Method : Reduction in first digit has no
impact on our result. Look for the largest value of the second
digit as afterinterchanging this will become the first digit.

63.

64.

65.

68.
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